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The question below consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical order of sentences from among the options.

P. The boy had a collection of beautiful marbles

Q. A boy and a girl were playing together

R. The boy gave all his marbles to the girl for her candies

QPR
RPQ
PQR
RQP
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In the following sentence, some parts of the sentence have been bracketed. Below are given alternatives to the bracketed part, which may improve the sentence. C oose the correct alternative. In case no

improvement is needed, choose the option *No improvement',
(Sitting under the shade) of a tree, I started writing a poem.
Sitting under the shades

Sitting in the shade

By sitting under the shade

No Improvement

In the question given below, a set of four sentences A, B, C & D is given, which when properly sequenced, form a coherent paragraph. Arrange the sentences in the correct order and mark the correct order as your

answer.

A. "What should I do if I am not the CEO of a company by the age of 45?", twenty years ago, hardly any newly-minted 1IM graduate would have considered that question seriously.

B. Or, at least, it would have required a brain laced with copious amounts of foresight or paranoia; today, though, it should not sound so extreme to graduates of top management schools.

C. While the young in India struggle to find jobs, the country’s middle-aged elite Professionals are hitting dead ends in their careers.

D. Automation and slow economic growth have led to rtal changes in

to scale the ladder, to redundancy and boredom.
DCBA
CBAD
BDAC
ABCD

Select the word, which means the same as the given group of words.
A group of people, typically with vehicles or animals travelling together
Alibi

Bohemian

Caravan

Anachronism

In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice.

Will the cat finally catch the mouse in the cartoon “Tom & Jerry”?

Will the mouse finally caught in the cartoon “Tom & Jerry”, will by the cat?
Will the mouse finally be catching the cat in the cartoon “Tom & Jerry”?
Will the mouse be finally caught by the cat in the cartoon “Tom & Jerry”?

The mouse finally will be caught in the cartoon “Tom & Jerry” by the cat?

Which of the following is not the characteristics of the thorn woodland?
Leaves are thick.

Acacias, palm, cacti are important trees.

The trees reach great heights upto 200m.

Trees are scattered and have long roots.

What was/were the reason(s) of decline of Maurayan Dynasty?
Weak rulers

Rise of new dynasty

Neither Weak rulers nor Rise of new dynasty

Weak rulers & Rise of new dynasty

Which of the following group was résponsible qu;{lipore Bomb Attack?
Bhagat Singh and Sukhdev

Bengal Royal Tigers

Anushilan Samiti

A tribal group from Bengal

What is the reason of widespread inequality among the human beings that leads to violation of human

rights?

Different faiths
Geographical differences
Economic disparity

Law of lands

Iron and steel both are
An agro based industry
Tertiary industry

Basic industry

A chemical industry

Project is done along with curriculum to get:
Realistic knowledge

Theoretical knowledge

Dramatic knowledge

Experimental knowledge
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worldwide, and that has had an unkind effect on senior executives ranging from unexpected job losses and fewer opportunities
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The Indian subcontinent's earliest agricultural evidence comes from:
Tokwa

Lahuradeva

Mehrgarh

Koldihwa

A Project includes:

Field work and Desk work
Only desk work

Rote learning

Only field work

Which of the following describes the winter season in India?

A. Nights are chilly and days are warm.

B. The country's southern regions are experiencing low pressure.
A is true but B is false

A is false but B is true

Both are false

Both are true

What is India’s rank in 185 countries in terms of travel and tourism’s total contribution to the GDP in
20197

Second
Fifth
First

Tenth

Which of the following are smooth oval shaped ridge like features composed mainly of glacial till with
some masses of gravel and sand?

Rocky coasts
Eskers
Outwash plains

Drumlins

Which of the following, which one is not a national park in India?
Hemis

Gir

Periyar

Shandur

I 9y W qd & omafy oot F 1 g B1 9 gH: JmafRy oot A I w3
are called leguminous crops.
Crops that restore oxygen
Crops that restore fertility of soils
Crops that restore fertility of seeds

Crops that restore nitrogen

Which Indian city has the wettest climate?
Cherrapunji

Ladakh

Barmer

Mawsynram

Which of the following article says that states should not impede or prejudice powers of Union while
exercising their powers?

Article 257
Article 356
Article 355

Article 258

According to 2011 census how many cities in India have more than 1 million population?
as
a2
40
53

Which of the following is the correct statement?

Fundamental Rights and duties are independent.
Fundamental rights and duties are based on same principles.
Fundamental duties are enforceable but not all rights.

Fundamental rights and duties are correlated.
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Q.No: 31 Which of the following causes the bulk of the rainfall of the Coromandal coast?

A

B
C
D

Q.No: 32
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Q.No: 33

o 0w
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Q.No: 37

o o0 w
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Q.No: 40
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Q.No: 41
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Q.No: 42
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South west monsoon
Western disturbance
Depressions and cyclones

North east monsoon

RIS A I P PRIFET de P ARSI T BT FRO T 82
<feror ot wrrgE

ufdef faei

AT R THAE

IR gd quing

Who among the following established mints at Cochin, Masuliipatnum and Pondicherry also issued gold coins f¥afifad § § R 1A, TRfugw 3R G A wifdd coarel # 1 I6eeR # R &3 a3 99 & R o

depicting Lord Venkateswara?
Dutch

French

British

Portuguese

Annapurna is a mountain situated in
China
India
Nepal

Bhutan

Sandalwood trees grow abundantly in the
Satpura

Khasi

Nilgiri

Garo

How many foreign banks are operational in India?
Less than 20
Less than 10
More than 50

Less than 50

Which state among the following doesn't have tropical deciduous forests??
Rajasthan

Chhattisgarh

Jharkhand

Western Orissa

How long had Sambhavnath been practicing before he bought Kewalya Gyan and started DharamTirth?

14
12
16
10

Which of the following state has the largest net sown area among the given options?

Delhi
Arunachal Pradesh
Assam

Punjab

Which one of the following is the salient feature of metamor;;rE‘ocks?
Foliation :

Changeable

Crystalline

Quite

“The pupils should be free to undertake the different activities connected with project.” This statement

points to which basic principle of project method?
Freedom

Purpose

Activity

Utility

Why some critics observed the period of emergency as the darkest period of independent India?

Due to the low economy activities during the period
Due to unethical way the emergency was imposed.
Due to suspension of fundamental rights for long.

Due to rampant corruption

Which part of the constitution discusses the provisions related to services under Union and States?

Part I11
Part X1V
Part XVI

Part XV
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Q.No: 43 Which theory explains the origin of cyclones?
A Extra tropical theory
B Polar Front theory
o Tropical cyclone theory
D Convective theory
Q.No: 44 What were not the toys of the children of Indus valley civilization?
A Whistles
B Figures of animals
[+ Merry go rounds
D Dolls
Q.No: 45 Which of the following does not help us recognize our family?
A Age
B Religion
C Nomenclature
D Residence
Q.No: 46 Who is entitled to have the right to Constitutional remedies in India?
A All in case of | of any Right
B Citizens of India only
c All people, for enforcing any of the Fundamental Rights, conferred on them
D An aggrieved individual alone
Q.No: 47 Which religion was embraced by Chandragupta Maurya in later period of his life?
A He did not change his religion.
B Jainism
C Hinduism
D Buddhism
Q.No: 48 What was the name of party set up by Gandhi in South Africa?
A The Natal Indian Congress
B South African Indian Congress
[} Indian Opinion
D Indian National Congress
Q.No: 49 Which l:f the following is the most common variety of igneous rocks that make the floor of most of the
oceans?
A Basalt
B Diorite
c Periodite
D Granite
Q.No: 50 Who among the following Presidents have not declared National emergency in India?
A Fakruddin Ali Ahmad
B V V Giri
[ Gyani Zail Singh
D Sarvalli Radha Krishan
Q.No: 51 Which country is the largest importer of Indian agricultural products during 2021-22?
A usa
B Britain
C Pakistan
D China
It vy R g A Smafiy oot 9 S g B1 o g onafRy of T 9 o wdn
Q.No: 52 Which of the following trees can be found in tropical deciduous forests?
A Babool
B Sundari
Cc Ebony
D Sal
Q.No: 53 When was the Community Development Programme started?
A 1962
B 1942
C 1922
D 1952

Q.No: 54 According to the Indian Constitution, what does the term socialist mean?

An independent India, no longer governed by any external authority

No discrimination on the basis of religion
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o 0w
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Q.No: 59
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Q.No: 60
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Q.No: 61
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Q.No: 62
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Q.No: 63

Q.No: 64

o 0w

Q.No: 65

U 0w

Q.No: 66 Parliament has power to legislate with respect to a matter in the State list. What is the condition for it?

People of India govern themselves throught heir elected representatives

Equal opportunities to every one to make use of the resources of the country

A legislation made by the state legislature is
Subordinate legislation

delegated legislation

Supreme legislation

autonomous legislation

Which of the following gives the name of teachings of Parsvanatha?
Panchsila

Trianthna

Panchya Mahavarta

Chaturyama

In which state of India “Kaal Baisakhi” winds are usually prevalent during summer season?
Tamil Nadu

Haryana

West Bengal

Karnataka

Which of the following statement is not correct about Arya Samaj?
It was formed in 1875.

1t was preached promoting good of all over individual good.
It was formed by Swami Paramhans.

It was formed in Bombay.

Prithviraja-III (1168-1192) was the most well- known emperor.
Chauhan

Gahadavala

Chalukya

Brahmana

Which of the following is not a pre-1857 revolt against the British government?
Moplah Rebellion

Santhal rebellion

Paika Revolt

Vellu Thampi Revolt

Where is Vikram Sarabhai Space Centre?
Karnataka

Tamil Nadu

Kerala

Andhra Pradesh

Where is 'Kudremukh’ peak?
Uttar Pradesh
Maharashtra

Odisha

Karnataka

Which of the Constitutional amendment introduced GST?

101
100%
102

1037

Which of the following ruler interacted with Muslim mystics and Hindu Yogis as well?
Firoz Shah Tuglag

Ghiyasuddin Tuglaq

Mohammad Tuglaq

Muhammad Bin Tughlaq

Where is 'Teerathgarh’ waterfall?
Chhattisgarh

Mizoram

Odisha

Jharkhand
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Q.No: 67

o 0 W

Q.No: 68
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Q.No: 69

o o0 w

Q.No: 70

o 0w

Q.No: 71

o 0 @ >

Q.No: 72

U 0w

Q.No: 73

o 0w

Q.No: 74

o 0 @ »

Q.No: 75

It can be done in the interest of the State concerned
There should be some national interest
It can be done in the interest of the minority

It can be done in the interest of the public

Which of the following age had most of the rock paintings?
Neolithic

Mesolithic

Post historical

Paleolithic

Which of the following mentioned Indian regions has maximum thorn forests?
Andaman and Nicobar Islands.

East-West parts of India.

South-West parts of India.

North-West parts of the country.

Where is Satish Dhawan Space Centre is located?
Karnataka

Kerala

Andhra Pradesh

Tamil Nadu

Out of the given options the Harappans were unaware of the purpose of:
Iron

Copper

Gold

Bronze

Which of the following is done along with the curriculum to import practical, realistic, and application-based

knowledge ?
Social activities
Social parties
Student Union

Project

Which of the following article incorporates the right of “Doctor’s assistance”?
Article 18
Article 21
Article 19

Article 20

For what purpose William Hawkins visited the court of Jahangir in 16097
To request protection from the Portuguese

To take consent for a factory

To request to remove taxes

To provide gifts to emperor.

Which of the following is not a part of India’s vision for climate protection as envisaged in COP-26
meeting?

Reach 500GW Non-fossil energy capacity by 2030.

of total proj: d carbon by one billion tones from now to 2030.
Achieving the target of net zero emissions by 2050.

50 per cent of its energy requirements from renewable energy by 2030.

On the physical map of India, A is the second-highest mountain on Earth. Identify it from the following
options.

A

INDIA

PHYSICAL
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.No: 76

.No: 77
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Q.No: 78
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Q.No: 79
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Q.No: 80

o 0w

Q.No: 81

o0 ®w »

Q.No: 82

o 0w

Q.No: 83

o 0w

Q.No: 84

U 0w »

Q.No: 85

o o0 w

Q.No: 86

K2
Mount Everest
Anai Mudi

Kanchenjunga

TR UH R GE A SR I B O gAY 1 3 G ARy Tof A W wA
Which of the following is the originally formed sedimentary rock?
Sandstone
Limestone
Conglomerate

Shale

Maldives Islands are situated to the

of the Lakshadweep Islands.
South

East

North

West

Which of the following is not a feature of capitalist economic system?
Economic freedom

Distribution of wealth

Profiteering

Consumer sovereignty

Which of the following reforms did not form part of religion propagated by Akbar by the name of *Din -I
elahi’ ?

Monogamy
Rejection of Teen Talaq
Remarriage of widows

Prohibition of child marriage

Which of the following is an incorrect statement about India as a democratic state?
India is a responsible democracy.

India is appreciated by other countries for success of its democratic model.
Indian model of democracy is adopted by other countries.

India faced to

ic form of governance due to various rebellions.

Which of the following deals with finance-related matters of the society and production, consumption,
distribution, exchange, investment etc, are some of its central concepts?

Economic institution
Political institution
Aesthetics

Health

Which of the following city is known as the millennium city of India?
Gurugram
Faridabad
Bangalore

Delhi

Which edicts describe the Kalinga war vividly?
. XII

No. XIII

President can-not claim emergency without the decision of it is conveyed to him. Who conveys the
message?

Prime Minister or any minister of cabinet rank
Chief Justice of India only
Home Minister only

Prime Minister only

The members of the Council of States are chosen by popular vote:

of and Gram y
Members of Legislative Council of States

of L of States

of both L and L Council

Who was leading the revolt of 1857 in Delhi against British army?
Shah Mal Jat
General Bakht Khan

Rani Laxmibai
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Q.No: 87
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Q.No: 91

o 0w

Q.No: 92
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Q.No: 93
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Q.No: 94

o 0 w >

Q.No: 95

o 0w

Q.No: 96

o 0w

Liaquat Ali

Northern Plain has been formed by:
None of the given options is correct.
Black Seil

Alluvial Soil

Red Soil

IR T WS H 1R o B S g 1 9 GH: ARy &k TE W "
What was India's female literacy rate in 20017
58.50 %
53.67 %
55.67 %

60.25 %

Which of the following is not a factor in the strained relations between India and Nepal?
The warm relationship between Nepal and China

Allowing its citizens to travel and work without Visas and Passports respectively
A trade-related dispute in the past

Interlocking water management grids

I7a 79 W g F amaf oot 3 1 g B1 o G SmufRy ok N o W

The picture given below shows the satellite image of Kaveri River. Which of the following is shown in it?

Dune
Delta
Alluvial fans

Meander

When was INSAT-1A (Indian National Satellite for Telecommunication) launched?
1991
1982
1990
1980

Which of the following types of trees has a conical shape?
Pine, Deodar

Babool, Khair

Rosewood, Mahogany

Sal, Teak

ferarea arelt

S feEmfme_ dgend:
fow e Redt 7 @ B off Wt T R
et et

oritg gt

e ot

2001 ¥ ¥Rd Ft wiger werar o R bz
58.50%
53.67%
55.67%

60.25%
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Which of the following causes a high percentage of children in a population?
High death rates -

High life expectancies

More married couples

High birth rates

Which of the following is the term used when some mineral gets arranged in layers in the process of
metamorphism of rocks?

Withering
Banding
Erosion

Foliation of lineation

Which of the following information about the galaxies is incorrect?
It is a huge mass of stars, nebulae and inter stellar material.
These are the major building blocks of the universe.

Each galaxy has on an average 100 billion stars.

All galaxies are regular in shape.

Who was the first man to propagate the idea of constitution in India?
Mahatma Gandhi

Motilal Nehru

M N Roy

Dr. B R Ambedkar
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Q.No: 97 Which of the following is not a stage of Discovery Method? Fefifaa 4 A I auw fafy & wxor ¢ 87
A Identification of a problem AR B UFA BT
B Experimentation and observation JARE R WA FIAT
C Evaluation T
D Training wReror
I7 Wy W qd A Ry oot S g B1 o G omafy ok 7 o w
Q.No: 98 Which activity helps in holistic development of an individual? B iR @ F T e ¥ 1w B e
A Survey Licig
B Project uf@terT
c Puzzle Tt
D Field trip e Ry
Q.No: 99 is the finest iron ore with a very high content of iron up to 70 percent. Ygada dre s & R 70 viawd a@ @R 3= 7 a1
A Anthracite e
B Lignite feromge
C Hematite TR
D Magnetite ﬂ'ﬁﬂsz‘
Q.No: 100 Within what period, the Parliament has to approve Financial emergency declared by the President? Ml R D faria SmuraeTa @) THg 1 e ofafy & o wiga F e 87
A Three months EiEk:rint
B Six months TE WEH
& Four months TR T
D Two moths AT
I T W S A Sl a5f F o gt 1 9@ TH: Smafy oot T Rt W W
Q.No: 101 What was the population density of India according to the census 2011? 2011F) SFTUAT & STER HRA BT THEGA G frn U1
A 328 persons per sq. km 328 wfd vl o fht
B 374 persons per sq. km 374 e ufy o°f el
C 400 persons per sq. km 400 wafd wiy i fedt
D 384 persons per sq. km 384 wfdy wiy o fdt
Q.No: 102 In place of silver coins, which of the following Tughlaq dynasty Sultans instead used copper coins? Prafeifaa ¥ 3 frw grae 91 F geart A 9 & Riaw] $ wF @ dia & Riew) o1 @ R ure
A Firoz Shah Tughlaq R < S
B Muhammad Bin Tughlaq Wﬁ‘lw
[ Ghiyasuddin Tughlaq TG FTee
D Mahmud Shah Tughlaq HEHG RITE AT
Q.No: 103 Where is C-295 aircraft manufacturing facility is being established? ®-295 fmm P gl Fei wifd 9t w @ 82
A Vadodara agraRT
B Calicut Easicad
C Pune g\?r
D Bangalore FTER
Q.No: 104 Who was the jain Svetabmer monk invited by Akbar in his court? SHT 3 U AR 7 5 SN AanaR My B i fear ur 2
A Vastupala qregre
B Mahavira EER
€ Bhadrabahu HRATg
D Harivijaya wRferan
Q.No: 105 The huge coal resources in Germany’s Ruhr area are the best example of: T & TR & e st SeE B TIAE ISR &
A actual resources e Tyt
B renewable resources Tdiwvvita st
[« human-made resources Ara fAfdfa s
D potential resources Hyrfaa dwreET
Q.No: 106 Which of the following soil occupies the largest area in India? Praffea &  fra i &1 yRa A T 791 49 7
A Red soil i ot
B Desert soil v gt
c Alluvial soil wreitg gt
D Black soil Frelt frdt
I w0 W e smafdr gof o gt }1 3r@: g omufd gof T ot o wanh
Q.No: 107 On the given map of India, A is marked as the latest Union Territory formed after the bifurcation of an YR & 7 T TR R, A B TS Hiegl 760 3 RToH & 91 Td ThHan $g i vew & w9 § fRfgd o g,

existing state which has also become a UT.

S A (UT) T T R
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A Telangana
B Jammu & Kashmir
C Chandigarh
D Ladakh
Q.No: 108 Which of the following tax was paid by the rich Muslims in Delhi Sultanate to help needy?
A Khumbs
B Zakat
C Jajiya
D Kharaj
Q.No: 109 Kalinga war massacre disturbed Ashoka a lot. Which of the following was a consequence of it?
A He replaced Bheri Ghosha with Dhamma Ghosha.
B He renounced kingdom.
C He replaced Dhamma -Ghosha with Bheri Ghosha.
D He adopted Bheri Ghosa.
Q.No: 110 Sir Thomas Roe arrived in India carrying a letter from which of the British Monarch:
A Queen Anne
B King James I
[of Queen Elizabeth
D Queen Mary
Q.No: 111 Who said - ‘Give me matter and I will build a world out of it'?
A James and Jeffreys
B Chamberlin
Cc Laplace
D Kant
Q.No: 112 When did PSLV (Polar Satellite Launch Vehicle) launched Chandrayan-1?
A 2010
B 2002
(o} 2001
D 2008
T w0 W e A aafi aoh o o o 31 9 4 TR ook T R o e
A is shown on the political map as a metropolitan metropolis characterised by the River Yamuna and
positioned at the apex of the Aravali hill range. Determine it from the possibilities provided.
- '
'
Q.No: 113
A Dehradun
B Lucknow
[+ New Delhi
D Chandigarh
Q.No: 114 Which of the following is not a function of SIDBI?
A It offers services like factoring, leasing etc.
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Q.No: 115
A

B
[+
D

Q.No: 116

Q.No: 117
A

B
C
D

Q.No: 118

o 0 ® »

Q.No: 119
A

B
(o
D
Q.No: 120
A
B
C
D
Q.No: 121
A

B
C
D

Q.No: 122

o 0w

It does not co-promote state-level venture funds.
It discounts and rediscounts bills.

Providing factoring services.

What was India's female literacy rate according to the census 2011? (Approximately)
58.50%
53.67%
65.46%
60.25%

On the political map of India, A is considered as the Standard Meridian of India which passes through

Uttar Pradesh. Identify its longitudinal value from the following options.

68°TE

37°6E

97°25'E

82°30'E

Which of the following information is incorrect regarding the conquests by the Aryas?
Slaves were gifted to the priests.

The people defeated by them were treated as ‘dasas’

The social division of society started with the conquests of Aryans.

The people defeated by them were freed.

g Wa-wta I PRt & we-Rar T8 @ g1
g farel 1 y=mar ok fnw | Y 81
e HaTg wer A1l

2011} TFIUAT & SRR HRA I A Harar R et Atz ()
58.50%
53.67%
65.46%
60.25%

YR & IEFIAE T TR A B HRA B W TeaTg Tl T ST 8 S 9% e @ gee Jord! gl
e e § & 3% IR $ 71 3 ugaH Sl

68°7" T&

EN

37°6' ¢

~
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EN
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EN

o g o sy  Prafifed 4 @ o 9 S T 3

TRl %1 3 STER & Ry o 4

T FRI GRIR W BY GTE /AT STt or

AT FT TS faruem omaf 3t e & w1y = gam
I RT WRIR W @) god oy fan wan

Which of the following was not a valid reason for the unified national movement against

British rule in later half of 19% century?

Rise in income of Indian businessman after industrial revolution.
Economical policies of Britishers to weaken Indian economy and businesses.

Fear of destroying their religion by Christian Missionaries.

Indian soldiers in army were discontent with the British rulers due to discrimination.

I T W O 9 AT ok o O g B I T U o T 2 o W

For the first time, the title 'Viceroy' was added to the centre of the Governor-General of India in:

1858
1833
1848
1838

Who created a post similar to foreign secretary in his period?
Harshvardhan

Chandragupta-I

Chandragupta

Samundaragupta

In which Article of the Constitution, the eligibility for re-election of the President is given?

Article-59
Article-57
Article-60
Article-58

Which period is known as *plan holiday’?
1951-1956
1961-1966
1969-1974

1966-1969

197 Tt ¥ g e W & R i g s ¥ Ry FoRifde # § 99 W o du R T are
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Which approach is known as learn ng through a tions, learning through experiences and learning through
reflection on doing?

Cooperative learning approach
Experiential learning approach
Problem solving approach

Inquiry approach

What is migration?

It is in the composition of population.

It is the movement of people, goods and services.
None of the given options are correct.

It is the movement of people across regions and territories.

In which one of the following states recently the first regular quasi-judicial mobile Court has been
inaugurated?

Gujrat
Haryana
Uttarakhand

Maharashtra

The months of form a period of transition from hot rainy season to dry winter conditions.
January - February

October - November

December - January

November - December

Which of the following is correct about the ordinance promulgated by the President?
It will continue to be in force till it is superseded by an Act of the Parliament
It will automatically become a law after 6 months

It will lapse on the expiration of 6 weeks from the meeting of the Parliament

It will lapse automatically after 2 months

Fa 0% R Gd A Smufd gt @ o g ¥1 o G mafRy gof A R o wh

Match the following:

Column A Column B

(a) Status of development (i) Rocks and metals

(b) Rio de Janciro (i) Developed stocks

(c) Abiotic Resources (iii) Fossil fuels

(d) Non renewable resources (iv) International Earth Summit

(a) - (iii), (b) - (iv) (¢} - (i), (d) - (ii)
(a) - (i), (b) - (iv), (<) - (i), (d) - (iii}
(a) - (iv), (b) - (ii) (c) - (iii), (d) - (V)
() - (i), (b) - (iii), (c) = (iv), (d) - (i)

The Himalayas' northernmost range is known as:
Himachal

Himadri

Shiwaliks

None of the given options is correct

The problem with democracy that we currently face:

In principle, democracy looks good but in practical it's not so good
It never appreciates the efforts rightly

confusion among us

It is not understandable by many of the people

The Himalayas' northernmost range is known as:
Himachal

Shiwaliks

None of the given options is right

Himadri

Who was India's first finance minister after independence?
R. K. Shanmukham Chetty

Krishnamachari

Gulzari Lal Nanda

Sarojini Naidu

Which of the following Indian cities surrounded by the three seas?
Vishakapatnam

Madurai

Kochi

Kanyakumari
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Which of the following is a principle of direction in growth and development of a child?
Principle of Integration

Principle of Reversibility

Principle of Cephalocaudal

Principle of Continuity

Identical twins develop when the cells arising from

A single fertilized egg separate and two complete embryos form.
Double fertilized egg separate and one complete embryos form.
A single fertilized egg separate and one complete embryos form.

Double fertilized egg separate and two complete embryos form.

I % WG F 3l oo 2 o g B1 o g anufiy ot N A W w A
The severely mentally retarded children have IQ-

75 to 100

25 to 50

less than 25

50to 75

Which of the following is not an appropriate act of teaching in Progressive education?

Any teacher should look for short- and long-term objectives they hope to achieve in a lesson
and series of lessons.

Any teacher should encourage their student to compete for marks and grades for a better
future.

Any teacher should treat their learner individually according to their skill.

and

Any teacher should the
background, and interests of their learners

Ms. Anita warns students of class VII that if they fail to complete their homework, she will cancel their

PE/Sports class (games period) and would expect students to complete the assigned task during that time.

What kind of motivation is Ms. Anita using in this situation?
Challenging their competence

Punishment

Negative reinforcement

Positive reinforcement

According to the two-factor theory, the s factor is i by

Training and education
Heredity and family
Education and Heredity

Training and heredity

Which writer is define of socialization as learning is according to rules of society,
H Johnson

K Davis

T Parsans

Maclver & Page

Immunity acquired in typhoid fever is an example of
acquired immunity

passive immunity

both of these

natural immunity

In Thorndike’s experiment on Cat with the puzzle box, presence of the lever represents which of the
following?

Behaviour
Response
Stimulus

Learning

According to progressive education, children should be -
Passive learner in classroom

Disciplined learner in classroom

Active learner in classroom

Strict learner in classroom

Oxalic acid is found is which of the following?
Spinach

Tamarind

Lemon

Amla
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Ace, Advantage, Deuce and Half volley are some of the terms associated with which sport?
Golf

Polo

Lawn Tennis

Wrestling

Which of the following is the India's largest freshwater lake?
Chilka
Loktak
Wular

Pulicat

Where is the headquarter of the Indian Energy Exchange (IEX)?
New Delhi

Coimbatore

Hyderabad

Mumbai

In the following question, there is a certain relationship between two given words. Choose the correct
alternative from the given ones having the same relationship with the given word.

Calendar : Date :: Thermometer : ?
Energy

Metal

Radiation

Fever

Which of the following Venn diagrams correctly represents- Lions, Wolves and Animals?

In the question given below are given two statements followed by two conclusions numbered I and II.
You have to take the two given statements to be true even if seem to be at variance with commonly

known facts. Read the conclusions and then decide which of the given conclusions logically follows from

the given statements disregarding commonly known facts.
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Statement:

All terrorists are human.

All humans are good.
Conclusion:

1. All terrorists are good.

II. No human can be a terrorist.

Neither conclusion I nor II follows

| Only conclusion II follows

Only conclusion I follows

Either conclusion I or II follows

wf eefee, T ¥

ol g, 3 1

frepd:

L [k, o= 1

I1. BT 55, e T 81 ¥l 21

T Freed 19 @ Frewd 11 srgeRor oea @
e Pread 11 SERY ST

Faa Presd 1 SR FRa §

qra Pred 1 a1 9 P 11 SR S §

Page- 17



